(x)
WJ P) Got d;(x *0) f'op ’0 *M:
¥ Xo K
(k)
ﬂ;&b = {o +Q C 0) Q. (k% &] 0
+

fs'o Qs = $265) - ‘F@]&'

‘3OE € !Q ‘tld Ko -
‘ ) / _.z& ) )%é")
3 Ao

W
fe) = B
) = RO S0+l * O +0O
Em"gc(l’)s 57




Ps (x) O + 6+ 2, +2:3 8y (-0
We wadt VX
’ 4
Fi) = ptge = za,
e — |
S0 4, = {\/2(‘\ =2 .F—-—.@
/Z- _/

> 3

L
?,%‘)5

oo 69 40 %) « Bl






, . ‘ ¢
Jo ds Fpuner, Senew wt SMMP

a o) ad wets B ’
'wa;%w%,,,f Aolorwued)

fors 2 c?"cx) = 22+ 4 TR

oy 2u 2

We auit YT

- P
ﬁ'fac)cﬁx . j [ 'q‘a) de
? ? o

p ’ P
:% ] dx + Q,j/MP%J-Q, /@?Jx
-p ¥ -












%[ﬁ"-‘f % dr 1-7/4-.-7” ;aj

""fr‘[—m ‘%’Z:wmﬂl]
: l[/ Gy + 7(/-/)7 =7 2P






